AP CHEMISTRY CHAPTERS 1-3 TEST 
1. In 1928, 1.0 g of a new element was isolated from 660 kg of the ore molybdenite.  The percent by mass of this element in the ore was:

a. 1.5%

b. 6.6%

c. 1.0%

d. .00015%

e. .0035%

2. How many significant figures are in the measurement 0.2010 g?

a. 1

b. 2

c. 3

d. 4

e. 5

3. An empty graduated cylinder weighs 55.26 g.  When filled with 50.0 mL of an unknown liquid, it weight 92.39 g.  The density of the unknown liquid is

a. 37.11 g/mL

b. 50.0 g/mL

c. 0.743 g/mL

d. 1.67 g/mL

e. 0.592 g/mL

4. How many inches equal 6.02 cm?  (1 inch = 2.54 cm)
a. 15.3

b. 2.54

c. 2.37

d. 12.0

e. none of these

5. Water has a density of 1.0 g/mL.  Which of the objects will float in water?

Object I:  mass = 50.0 g; volume = 60.8 mL

Object II:  mass = 65.2 g; volume = 42.1 mL

Object III:  mass = 100.0 g; volume = 20.0 mL

a. I

b. I, III

c. II

d. II, III

e. III

6. The number of protons, neutrons, and electrons in 138Ba+2 are:

a. 69 p, 69 n, 67 e

b. 56 p, 82 n, 54 e

c. 56 p, 56 n, 56 e

d. 56 p, 56 n, 54 e

e. 56 p, 138 n, 82 e

7. Which of the following represents a pair of isotopes?

a. 14C, 14N

b. 1H, 2H

c. 13C, 14N

d. O2, O3
e. 32S, 32S2-
8. Gallium consists of two isotopes of masses 68.95 amu and 70.95 amu with abundances of 60.16% and 39.84%, respectively.  What is the average atomic mass of gallium?
a. 69.95

b. 70.15

c. 71.95

d. 69.75

e. 69.55

9. Calculate the molar mass (g/mol) of a sample if a single molecule weighs 5.34 x 10-23g.

a. 1.13 x 1046 g/mol

b. 12.0 g/mol

c. 5.34 x 10-23 g/mol

d. 32.2 g/mol

e. none of these

10. The molar mass of calcium phosphate is

a. 324.99 g/mol

b. 310.18 g/mol

c. 175.13 g/mol

d. 135.05 g/mol

e. none of these

11. The molar mass of C2H4Br2 is 187.9g/mol.  How many atoms of carbon are in a sample of this compound with a mass of 1.879 g?
a. none

b. 6.022 x 1021
c. 6.022 x 1022
d. 12.04 x 1044
e. 1.204 x 1022
12. A sample of metal weighing 2.52 g is combined with oxygen; the metal oxide weight 3.01 g.  The mass percent of  oxygen in the compound is
a. 19.9%

b. 16.6%

c. 83.4%

d. 50.0%

e. cannot be determined from information given

13. NaHCO3 is the active ingredient in baking soda.  How many grams of oxygen are in 0.35 g of NaHCO3?

a. 0.012 g

b. 0.022 g

c. 0.067 g

d. 0.15 g

e. 0.20 g

14. A hydrocarbon has the formula C2H4.  What is the percent by mass of carbon in the compound?

a. 33.3%

b. 50.0%

c. 62.4%

d. 85.6%

e. 92.1%

15. A compound is made of only carbon and hydrogen and contains 85.6% carbon.  What is the empirical formula of this compound?

a. C2H4
b. C2H

c. CH2
d. CH

e. C3H5
16. In the simplest balanced equation with whole number coefficients for the reaction of hydrogen with oxygen to form water, what is the coefficient of oxygen?
a. 0

b. 1

c. 2

d. 3

e. 4

17. The sum of the coefficients when the following equation is balanced is

BaSO4 +     K3PO4 →      Ba3(PO4)2 +    K2SO4
a. 4

b. 7

c. 8

d. 9

e. 11

18. For the reaction of C2H4 with O2 to form CO2 and H2O, what number of moles of carbon dioxide can be produced by the reaction of 5.00 mol C2H4 and 12.0 mol O2?

a. 4.00 mol

b. 5.00 mol

c. 8.00 mol

d. 10.0 mol

e. none of these

19. A 5.95 g sample of AgNO3  is reacted with BaCl2 according to the equation
2AgNO3 + BaCl2 → 2AgCl + Ba(NO3)2 to yield 4.00 g AgCl.  What is the percent yield of AgCl?

a. 21.4%

b. 39.8%

c. 67.2%

d. 79.7%

e. 93.5%

20. A compound contains 12.8% C, 2.1% H and 85.1% Br.  The molar mass is 188 g/mol.  What is the molecular formula?

a. CH2Br

b. C2H4Br2
c. C3H6Br3
d. C4H8Br4
e. None of these

21. For the reaction CaCO3 + 2HCl → CaCl2 + CO2 + H2O
68.1 g solid CaCO3 is mixed with 51.6 g HCl.  

a.  What number of grams of CO2 will be produced?

b. What is the excess reactant?  Limiting reactant?

c. How many moles of excess reactant remain?

22. Name the following compounds

a. HgI

b. CF4
c. H2SO4
d. Ba(NO3)2
23. Write the formulas for the following compounds

a. Lithium hydride

b. Hydrochloric acid

c. Dinitrogen pentoxide

d. Copper (II) phosphate
